Read the problems and solve

Tony has 6 boxes with 9 balls in each. How
many balls does he have altogether?

There are balls altogether.

There are 6 cars and 5 people in each car.
How many people are there in all?

There are people altogether.

There are 6 bunches of bananas. Each
bunch has 8 bananas. How many bananas
are there in all?

There are bananas altogether.

There are 6 baskets. Each basket has 7 oranges.
How many apples are there altogether?

There are oranges altogether.

7 erasers are packed in one packet. How many
rubbers are there in 8 packets?

There are erasers altogether.




